Yesterdoy we were dividing by grouping

I have |10 teddies .and I want to put them
in rows of 5. How many rows would I have?

10 + 5 =






WALT: Divide by grouping
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15 + 5=

A. 5 B. 15 C. 3



WALT: Divide by grouping

Put the sheep into groups of 2. How many
Qroups Can Mo smaoke?
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Which sentence is correct?
A. 6 = 2 =3 B. 3 +2=26

C. 2+ 6 =13



WALT: Divide by grouping

How many triangles can youw make using

Lollipop sticks?
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division by grouping?
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Complete the table

Number of
lolipop
sticks

Diagram

Complete
Squares
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WALT: Divide by .grouping
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Put the sheep e growps of 2
How many qrups can you moke?
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